
Operation Operations                                                                                      Day 9
Skills: Expanded form, figures and words, Ordering numbers, decimal place value, understanding multiplication, 12-hour clock.  

1. Convert the expanded forms to standard form  

𝟒𝟎𝟎 + 𝟑𝟎 + 𝟐                     _________ 

𝟓𝟎, 𝟎𝟎𝟎 + 𝟒, 𝟎𝟎𝟎 + 𝟗𝟎𝟎 + 𝟖𝟎 + 𝟏 _________ 

𝟒𝟎, 𝟎𝟎𝟎 + 𝟔𝟎𝟎 + 𝟖𝟎 + 𝟓  _________ 

2. The number "𝒆" representing an unending mathematical 

constant approximately equal to 𝟐. 𝟕𝟏𝟖. 

Write the place value of the digits 

a. 𝟖  ___________________ 

b. 𝟏  ___________________ 

c. 𝟐  ___________________ 

d. 𝟕  ___________________ 

3. Subtract the sum of 𝟒𝟏𝟔 and 𝟐𝟒𝟔 from 𝟏𝟎𝟎𝟎? 

𝟏𝟎𝟎𝟎 − (𝟒𝟏𝟔 + 𝟐𝟒𝟔) 

_________________________ 
4. Tara, Oma, Faisal and Nazif all share some money.  

Tara gets 𝟑𝟐𝟕 

Faisal gets double what Tara gets  

Oma gets 𝟏𝟎𝟎 more than what Tara gets 

Nazif gets 𝟐𝟎𝟎 less than what Oma gets 

a. How much does each person get? 

Tara     ________ 

Faisal  ________ 

Oma    ________ 

Nazif   ________ 

b. How much did they all have to share?  ________________ 

5. Draw lines to match right the time-stamps to the clocks 

 

𝟕: 𝟑𝟎 

𝟕: 𝟏𝟓 

𝟖: 𝟎𝟎 

𝟕: 𝟒𝟓 

𝟕: 𝟎𝟎 

 

 

 

6. A Jerry can of petrol costs 𝑵𝟏, 𝟒𝟑𝟎. How 

much will you pay for 𝟔 Jerry cans?  
_____________________ 

7. Write in words 𝟕, 𝟎𝟏𝟕, 𝟏𝟖𝟎?   

_________________________________________________________________________________ 

_________________________________________________________________________________
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Multiplication and Division: 0, 1, 2, 3, 4, 5, 6 and 7 tables 

× 5 8 7 10 9 1 11 12 3 2 4 6 
1             

5             

0             

2             

6             

3             

4             

7             

 

 

 

 

 

 

 

 

 

 

 

𝟒 × 𝟖 = 𝟓 × 𝟗 = 

𝟐 × 𝟓 = 𝟑 × 𝟖 = 

𝟒𝟐 ÷ 𝟔 = 𝟐𝟒 ÷ 𝟒 = 

𝟗 × 𝟕 = 𝟔 × 𝟏𝟏 = 

𝟓𝟒 ÷ 𝟔 = 𝟓𝟔 ÷ 𝟖 = 

𝟏𝟐 × 𝟕 = 𝟒 × 𝟖 = 

𝟕 × 𝟖 = 𝟕 × 𝟏𝟎 = 

𝟔 × 𝟖 = 𝟕 × 𝟕 = 

𝟐𝟒 ÷ 𝟒 = 𝟏𝟒 ÷ 𝟐 = 

𝟔 × 𝟏𝟏 = 𝟔 × 𝟏𝟏 = 

𝟓𝟒 ÷ 𝟗 = 𝟓𝟒 ÷ 𝟔 = 

𝟑 × 𝟖 = 𝟓 × 𝟕 = 

 

 

 

 𝟗 𝟕 𝟖 
× 𝟐 

 
 

 𝟏 𝟒 𝟎 𝟎 
×   𝟑 𝟕 

 
 

 

 
 

  𝟒 𝟕 𝟖 
×   𝟕 𝟔 

 
 
 

 

 𝟐 𝟑 𝟕 𝟖 
×   𝟒 

 
 

𝟐𝟐

𝟐
= 

𝟒𝟑𝟓

𝟑
= 

𝟔𝟑𝟐

𝟑
= 

𝟗𝟖

𝟕
= 

𝟒𝟎𝟐𝟎

𝟓
= 

𝟐𝟏𝟑𝟎

𝟒
= 


